
Appendix B: semi-discrete model notation and description

Combining the continuous system (1) with the discrete disturbances (2) from the main
text leads to the semi-discrete model

dR

dt
= rAA (1−R− A−M)− aR− rMRM − dRR t 6= τ

dA

dt
= aR + gA (1−R− A−M)− βAM − dAA t 6= τ

dM

dt
= rMM (1−R− A−M) + rMRM + βAM − hbM − hsM

ωA

1 + ωA
t 6= τ

R(τ+) = (1− γ(τ))R(τ)
A(τ+) = (1− γ(τ))A(τ)
M(τ+) =M(τ).

(B.1)

where τ are time steps with bleaching events and τ+ are the instants following bleaching
events.
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